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1. Consider the following statements: 

1) An ecological footprint is the total area of land required to sustain an activity or population. 

2) Ecological footprint data is used to calculate Earth Overshoot Day. 

Which of the above statements is/are correct? 

a) 1 only                              b) 2 only                                 c) Both 1 and 2                    d) Neither 1 nor 2 

 

2. Recently, the Reserve Bank of India (RBI) allowed non-bank Payment System Providers (PSPs) to 

participate in Centralised Payment Systems, as direct members. What does that mean? 

1) It means allotment of a separate IFSC to non-banks. 

2) Non banks are now allowed to open a current account with the RBI in its core banking system 

3) Non banks are now allowed membership of Indian Financial Network. 

Choose the correct answer from the codes given below: 

a) 1 and 2 only                     b) 2 and 3 only                         c) 1 and 3 only                       d) 1, 2 and 3 

 

3. Which of the following statements is/are correct regarding Shanghai Cooperation Organization (SCO): 

1) It is a Eurasian political, economic, and security alliance. 

2) RATS is a permanent organ of SCO. 

3) India is an observer state of SCO. 

Which of the above statements is/are correct? 

a) 1 only                           b) 1 and 2 only                                c) 3 only                      d) 2 and 3 only 

 

4. According to National Mineral Inventory, largest reserves of gold are located in which state of India? 

a) West Bengal                 b) Karnataka                                 c) Rajasthan                       d) Bihar 

 

5. UNESCO recently removed which of the following site from the World Heritage List? 

a) Colchic rainforests and wetlands 

b) City of Liverpool 

c) Korean Tidal Flats 

d) Old City of Jerusalem and its Walls 

 

6. Which of the following stands correct about the recent amendment made in Companies Act 2013 ? 

1) Companies Act 2013 is implemented by ministries of commerce and industry 

2) The present amendment is being done on the rules of incorporation of a company under the Act. 

3) It is being done to address the issue of firms having similar names  

a)1 and 3                           b) 2 Only                          c) 2 and 3                                     d) All of the above  

 

7. Golden Rice seen in news has been developed by  

a) Philippines                b) India                         c) Vietnam                      d) None of the above  

 

8. Consider the following statements on power Islanding  System 

1) This is being done to safeguard power grids from Cyber Attacks 
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2) India till date doesn’t have such system in place 

Which of the above is/are correct 

a) 1 Only                        b) 2 Only                               c) 1 and 2                     d) None of the above  

 

9. Which out of the following stands correct about NESAC? 

1) It is a dedicated space application centre for North Eastern States 

2) Union Home Minister is the President of this centre. 

a) 1 Only                    b) 2 Only                                     c)1 and 2                         d) None of the above  

 

10. Which of the following stands correct about Chiranjeevi Swastha Bhima Yojana  

1) It has been launched by Andra Pradesh  

2) It includes a cover of 5 lakhs  

3) Beneficiaries in this have to pay a premium annually 

a) 1 Only 

b) 2 Only 

3) 2 and 3 

4) 1,2 and 3  


